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Instructions: 1) Attempt all FIVE (5) questions.
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Q.1 (a) If y = cosh(cosx)+tanh™! (v/X), then find Z—i’.
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Q.2 (a) Express the integral [* (3 +tanx) dx as a limit of sums.
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(b) Evaluate f % dx
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Q.3 (a) Evaluate f \/% (5 marks)
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(b) Find the area of the bounded region y =x, y=e%*, 0<x <2.
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Q.4 (a) Find the volume of the solid obtained by rotating the bounded region

2x=y%, x=0, 0<y<2; aboutthe y-axis. (5 marks)
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(b) Find the volume of the solid obtained by rotating the bounded region
x=-y*+2y, x=0, 0<y<2; aboutthe x-axis. (5 marks)
(ﬁnt: Use shell method)
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Q.5
i)

vi)

vii)

viii)

Choose the correct answer for each of the following statements.

Iff14 f(x)dx =3 and ff g(x) dx :@

then ff [3f(x) = 2g(x)] dx = 5.
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The integral that represents the volume of the solid obtained by rotating the

region boundedby y = x?, x=y, 0 < x < 1; abouttheline y=2 is;

V= foln [(2 — xz)z—:—(—z-—x—?_] dx. W\

b) False
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